FgArea: [0 ]
NC11 P3-1
2025-06-01 (Day 64)
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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot EC/PH from runoff

Warning: col ['FVIEC1 _E', 'FVOEC1_E2'] missing
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Plot [['I", "lopt’], ['T, "Topt’], ['RH", 'RHopt'], [ ETcl’, ’'optETcl’], ’'LAI’,

" optEtRate’ ]
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Plot [['setVlI ETcl’, 'setVI fgRec’,

"setVI_VN', ’slISetVI']]
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Plot ['VI pcterr’, 'VO pcterr’, 'VN pcterr’]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r—o',

"PHO:g—o’ ]]

7.0 A H—T I T—T T T—H—O—O—O—.—.—.—Q—.—.—.
6.9
6.8
6.7
6.6
o5 —e— PHO l Warring: col '[' FVOPHl]_.is missing . R o l
6 1I0 2I0 3IO 4IO 5I0 6I0




Trend plot forP3-1_0
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P3-1

BfiE) | EBATK (R | EHME (EARA/HK) | ERERE (B/R) | XK R

08:00 278 150.0 25. 83 FA| FHA@08:00 KENFZF (ARFIEES)
08:35 278 150.0 25. 83 FR| FHA@08:35 KRENFZF (KRFAIREES)
09:25 278 150. 0 25. 83 FR[ FHR@09:25 RENFEFF (KRR
10:05 278 150.0 25. 83 FA| FHA@10:05 KRENFEF (ARFAERHS)
10:45 278 150.0 25. 83 BH| FhHA@10:45 KEF2F (RAEREE)
11:20 278 150.0 25. 83 FH| FnHA@11:20 KREIF2F (REEREE)
11:55 278 150.0 25. 83 FA| FhHR@11:55 RHMIEHF (RAKLESR)
12:30 278 150.0 25. 83 FH| FhHA@12:30 KEF2F (KRAHEREE)
13:05 278 150.0 25. 83 FA| FhHA@13:05 KRENFZF (RAA{EEE)
13:35 278 150.0 25.83 FA| hHR@13:35 KRHMIZHF (RALER)
14:10 278 150. 0 25. 83 /1| fiHfe14:10 REEF (REERES)
14:45 278 150.0 25. 83 F|  FHA@14:45 REIZF (RAERESS)
15:20 278 150.0 25. 83 FA| FhHR@15:20 REMIZHF (RALESR)
16:05 278 150. 0 25. 83 M|  FEA@16:05 KRENFZF (RFAEEE)
2it]3892.0 (14)%) 2100.0 3EHKEC: 2080.0, PH: 5.6

[E;&EC 6213.0 K5, EiNF{KECAE&M%ER
#[EKECE (2007.0 vs 6213.0) 15




FRV (ml plant-1)

ET (ml/hr/plant)

P3-1_0, Day=64 (2025-06-01)
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P3-1

BfiE) | GEBEATIC () | ERE (EH/f) | ERERE (B/R) | XS R

07:20 278 150.0 25. 83 FA| 1B2i%@07:20 Bzh (kAB{EREEE)
08:20 278 150. 0 25. 83 FA| 1BRi%@08:20 B3zh (KA{ERESE)
09:20 278 150.0 25. 83 FA| {Ri%@09:20 Bz (RAMEEEE)
10:20 278 150.0 25. 83 FA| 1B2i%@10:20 B3h (RA{EREE)
11:20 278 150.0 25. 83 PA| {Ri%e11:20 Bz (GRAEEE)
13:40 278 150.0 25.83 K| {Ri&@13:40 Bzh (RAERSE)
Bit]1668.0 (6%) 900.0 32 KEC: 2080.0, PH: 5.6

large discrepency for begining water status (345:129.0), set to 345 ml.
[2]/REC 6960.0 K&, #iUAKECHAIMIAERR
P [ERECE (2087.0 vs 6960. 0) 33 5




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-1_0, Day=63 (2025-05-31)
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P3-1

BYiE) | EBAK (R | EHE (EAR/HK) | ERERE (B/R) | XK R

07:20 278 150.0 25. 83 FA| 1Bi&@07:20 B3 (KRAFEREE)
08:00 278 150.0 25. 83 FH| 1Bi&@08:00 Bzl (RAEREE)
08:40 278 150.0 25. 83 FH| 1ERi&@08:40 Bzh (RAAEREIEE)
09:20 278 150.0 25. 83 FA| {Ri%@09:20 Bz (RAMEEEE)
10:00 278 150. 0 25. 83 PA| {Ri%@10:00 Bz (GRAHEESE)
10:45 278 150. 0 25. 83 FA| 1BRi%@10:45 B3h (RAERSE)
11:25 278 150.0 25. 83 FR| {Ri%e@11:25 Bz (GGRAEEE)
12:00 278 150.0 25. 83 PA| {Ri%e12:00 Bz CGRAKEESE)
12:35 278 150.0 25. 83 FA| 1BRi%@12:35 B3h (RAERSE)
13:10 278 150.0 25.83 FH| {Ri%e13:10 Bzl (RAMEEE)
13:45 278 150.0 25. 83 PA| {Ri%e13:45 Bz CGRAKERE)
14:35 278 150.0 25. 83 BH| 1Bi&e14:35 Bzl (GRAEREE)
15:30 278 150.0 25.83 FA| 1BRi%@15:30 B3h (KRAHERSE)
16:35 278 150.0 25. 83 PA| {Ri%e16:35 Hz (GRAMEEE)
23t 3892.0 (14%) 2100. 0 3ZHKEC: 2080.0, PH: 5.6

large discrepency for begining water status (389:87.0), set
[BI/&REC 7247.0 K&, EILAIRECABRMEER
3 [ERECE (2220.0 vs 7247.0) M5

to 389

ml.




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-1_0, Day=62 (2025-05-30)

150 A

100 A

50

200 A

150 -

100 -

1
o
1

VI, VPRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET

2200
957 1969
1500 65680

20 Warning: lcol ['FVI',| "FVO'] missing 20
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Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing
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P3-1

BfiE) | GEBATK (D) | ERE (EA/K) | ERERE (B/R) | XS R

07:25 273 150. 0 25. 83 E BRi&e07:25 Bz (RAERESE)
07:55 273 150. 0 25. 83 E|  {Ri&e07:55 Bah (RE{EREE)
08:25 273 150.0 25. 83 5| {Ri&e08:25 Bz (REAEHS)
09:10 273 150.0 25.83 (Z=| {Ri%@09:10 Bz (KRAERSE)
09:50 273 150.0 25.83 |Z=| {Ri&@09:50 Bz (KREEHSE)
10:25 273 150.0 25.83 (£ =| 1Ri%@10:25 B3 (RAERSE)
11:00 273 150.0 25.83 (Z=| {Ri%e11:00 Bz (REAEHSE)
11:35 273 150. 0 25.83 (& =| 1Ri%e11:35 Bz (REAEDSE)
12:10 273 150.0 25.83 (£ =| 1Rige12:10 B3 (RAERSE)
12:40 273 150.0 25.83 (Z=| 1Rige12:40 Bz (REERSE)
13:15 273 150. 0 25. 83 E| {Rige13:15 Bzh (RE{ERSE)
13:45 273 150.0 25. 83 F BRige13:45 Bz CGRAERSE)
14:15 273 150.0 25. 83 Sl {Rige14:15 B3 (REAERSE)
14:45 273 150. 0 25. 83 E BRige14:45 Bz CGRAERESE)
15:15 273 150.0 25. 83 F BRige15:15 Bz CGRAERESE)
15:45 273 150.0 25. 83 = {Rige15:45 B3 (GREAERSE)
16:25 273 150.0 25.83 (Z=| {Ri%e16:25 Bz (RAEHSE)
17:15 273 150.0 25. 83 FR| {Ri&e@17:15 Bzl CGRAEEE)
2it] 4914.0 (18X%) 2700. 0 323 KEC: 2080.0, PH: 5.6

large discrepency for begining water status (302:112.0), set to 302 ml.
[B]/&EC 7363.0 K&, EiIUAKECAAIMIAER
BE[EIRECE (2323. 0 vs 7363.0) i 5
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P3-1

BfiE) | GEBATK (D) | ERE (EA/K) | ERERE (B/R) | XS R

07:25 278 150. 0 25. 83 E BRi&e07:25 Bz (RAERESE)
07:55 278 150. 0 25. 83 = {RRi8007:55 Bah (RAEESE)
08:25 278 150.0 25. 83 = {RRiB008:25 B (FRFAEEE)
08:55 278 150. 0 25. 83 E  1BRi&e08:55 Bzl (RAERE)
09:40 278 150.0 25. 83 5| {Ri%@09:40 Bz (FRAMERSE)
10:15 278 150.0 25. 83 =l RRiB010:15 Bz (REAEESE)
10:55 278 150.0 25. 83 = {RRiB010:55 Bz (REAEEE)
11:30 278 150. 0 25. 83 5 {Ri%e11:30 Bz (RAERSE)
12:00 278 150.0 25. 83 =l {Rige12:00 B3 (RAERSE)
12:30 278 150.0 25. 83 Sl {Rige12:30 B3 (RAERSE)
13:00 278 150. 0 25. 83 E| {Rig@13:00 B3h (RE{ERSE)
13:30 278 150.0 25. 83 F BRi%e13:30 Bz (GRAERESE)
14:00 278 150.0 25. 83 Sl {Rig014:00 B3 (RAERSE)
14:30 278 150. 0 25. 83 E BRige14:30 Bz CGRAERESE)
15:00 278 150.0 25. 83 F[ BRi%e15:00 Bz (GRAEREE)
15:30 278 150.0 25. 83 = {Ri%@15:30 B3 (RAERSE)
16:05 278 150. 0 25. 83 E BRige16:05 Bzl (RAERESE)
16:45 278 150. 0 25. 83 = RiB016:45 Bz (REAEESE)
24t]5004.0 (18)%) 2700. 0 323 KEC: 2080.0, PH: 5.6

large discrepency for begining water status (350:84.0), set
[B/KEC 6642.0 K&, EILAIRECAZMITER
BE[EIRECE (2400. 0 vs 6642.0) 15

to 350

ml.
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